AT D E C m:}:‘tgng Technical Summary
Possibilities ADM-BV400M
VESA 400 M Brackets

COMPONENT CHECKLIST

Item Name QTY

M8 x 13mm Spacer
M8 x 24mm Spacer
5mm Hex Key

< C_
g H A Interface Arm - Left 1
g B Interface Arm - Right 1
Cc M6 x T6mm Screw 4
D M6 x 25mm Screw 4
g 2 E M6 x 40mm Screw 4
F  Washer 4
G M8 x 16mm Screw 4
H M8 x 25mm Screw 4
| M8 x 40mm Screw 4
‘ > J M8 x 5mm Spacer 4
M K .
L 4
M 1

N
(1.89") i
48mm N~
» qm
28.5mm N
(0.33")\‘0
13mm (0.51") ~l=Tg T )
Height NN k4 [
0 Adjustment '03 @ Q
A2 £|E “**é "
=™ £ I EaNe N o
SR SIERIH IEEE g i
~F it « Ol 2| s| o = ; 2
£ E130.60 g € ol 1S < & z ;
R E| (.20 g E El gl g £ : €
0w SN E| € € i £
S ©| o 3| &l E % ! o
B Q%5 S D)
I 2mm
ki (Olg3" |
I L . |
» 20mm (0.79”)
59.5mm (2.347) Adjustment
REAR VIEW FRONT VIEW Distance

No portion of this document or any artwork contained herein should be reproduced in any way without the express written consent of Atdec Pty Ltd.
Due to continuing product development, the manufacturer reserves the right to alter specifications without notice. ©20180131A

atdec.com ADM-BV400M Page 1of 1

Please Recycle ",'}



